
=LPDB����

3UDFRZQLN�5R]NãDG���PJU�.ZLDWNRZVND�.DUROLQD��7\J������
3

Q

�������������7\J������
�����

3RGVWDZ\�SUDZD
F\ZLOQHJR��üZ��PJU
.ZLDWNRZVND�.DUROLQD�=
%������ ���$'0�/����&�

�������������7\J������
�����

3RGVWDZ\�SUDZD
F\ZLOQHJR��üZ��PJU
.ZLDWNRZVND�.DUROLQD�=
%������ ���$'0�/����&�

�������������7\J������
�����

3UDZR�F\ZLOQH�F]ĊĞü
RJyOQD� PJU
.ZLDWNRZVND�.DUROLQD�=
%������ ���35$�'����
:$5�

�������������7\J������
�����

3UDZR�F\ZLOQH�F]ĊĞü
RJyOQD� PJU
.ZLDWNRZVND�.DUROLQD�=
%������ ���35$�'����
:$5�

�������������7\J������
�����

3UDZR�F\ZLOQH�F]ĊĞü
RJyOQD� PJU
.ZLDWNRZVND�.DUROLQD�=
%������ ���35$�'����
:$5�

Z
WR

UH
N

�������������7\J������
�����

3UDZR�F\ZLOQH�,,�SUDZR
U]HF]RZH�L�VSDGNRZH��P
JU�.ZLDWNRZVND
.DUROLQD�=%���������
35$�'����:$5�

�������������7\J������
�����

3UDZR�F\ZLOQH�,,�SUDZR
U]HF]RZH�L�VSDGNRZH��P
JU�.ZLDWNRZVND
.DUROLQD�=%���������
35$�'����:$5�

�������������7\J������
�����

3RGVWDZ\�SUDZD
F\ZLOQHJR��üZ��PJU
.ZLDWNRZVND�.DUROLQD�=
%������ ���(.2�/���

RVWDWQLH�]DMĊFLD����PLQXW

�������������7\J���������
���������������

(OHPHQW\�SUDZD
F\ZLOQHJR�PJU
.ZLDWNRZVND�.DUROLQD�=
%������ ���5,3�/����
:$5������5,3�/����
:$5������5,3�/����
:<.

]DMĊFLD�Z����W\JRGQLX�Z
Z\PLDU]H����PLQXW��RELH
JUXS\�ZDUV]WDWRZH�

ĤU
RG

D

�������������7\G]��

3UDZR�F\ZLOQH�F]ĊĞü
RJyOQD�ZDU�PJU
.ZLDWNRZVND�.DUROLQD�=
%������ ���35$�'����
:$5�

�������������7\G]��

3UDZR�F\ZLOQH�F]ĊĞü
RJyOQD�ZDU�PJU
.ZLDWNRZVND�.DUROLQD�=
%������ ���35$�'����
:$5�F]

Z
DU

WH
N

3
W

�������������7\G]��

3UDZR�F\ZLOQH�F]ĊĞü
RJyOQD�ZDU�PJU
.ZLDWNRZVND�.DUROLQD�=
%������ ���35$�:���
:$5

�������������7\J�������
������

3UDZR�F\ZLOQH�F]ĊĞü
RJyOQD�ZDU�PJU
.ZLDWNRZVND�.DUROLQD�=
%������ ���35$�:���
:$5

�������������7\G]��

3UDZR�F\ZLOQH�F]ĊĞü
RJyOQD�ZDU�PJU
.ZLDWNRZVND�.DUROLQD�=
%������ ���35$�:���
:$5

�������������7\J�������
������

3UDZR�F\ZLOQH�F]ĊĞü
RJyOQD�ZDU�PJU
.ZLDWNRZVND�.DUROLQD�=
%������ ���35$�:���
:$5

�������������7\G]��

3UDZR�F\ZLOQH�,,��SUDZR
U]HF]RZH�L�VSDGNRZH�
�ZDU�� PJU�.ZLDWNRZVND
.DUROLQD�=%���������
35$�:����:$5

�������������7\G]���

3UDZR�F\ZLOQH�,,��SUDZR
U]HF]RZH�L�VSDGNRZH�
�ZDU�� PJU�.ZLDWNRZVND
.DUROLQD�=%���������
35$�:����:$5

�������������7\J�������

3UDZR�F\ZLOQH�,,��SUDZR
U]HF]RZH�L�VSDGNRZH�
�ZDU�� PJU�.ZLDWNRZVND
.DUROLQD�=%���������
35$�:����:$5

�������������7\G]��

3UDZR�F\ZLOQH�,,��SUDZR
U]HF]RZH�L�VSDGNRZH�
�ZDU�� PJU�.ZLDWNRZVND
.DUROLQD�=%���������
35$�:����:$5

�������������7\G]��

3UDZR�F\ZLOQH�,,��SUDZR
U]HF]RZH�L�VSDGNRZH�
�ZDU�� PJU�.ZLDWNRZVND
.DUROLQD�=%���������
35$�:����:$5

�������������7\G]���

3UDZR�F\ZLOQH�,,��SUDZR
U]HF]RZH�L�VSDGNRZH�
�ZDU�� PJU�.ZLDWNRZVND
.DUROLQD�=%���������
35$�:����:$5

�������������7\G]��

3UDZR�F\ZLOQH�,,��SUDZR
U]HF]RZH�L�VSDGNRZH�
�ZDU�� PJU�.ZLDWNRZVND
.DUROLQD�=%���������
35$�:����:$5

VR
ER

WD

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

3UDFRZQLN�5R]NãDG���PJU�.ZLDWNRZVND�.DUROLQD��7\J������

�������������7\J�������

3UDZR�F\ZLOQH�,,��SUDZR
U]HF]RZH�L�VSDGNRZH�
�ZDU�� PJU�.ZLDWNRZVND
.DUROLQD�=%���������
35$�:����:$5

VR
ER

WD
1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


